
How can sequences with frameshifts and STOP-CODON be ‘productive’ in IMGT/(High)V-QUEST? 
 
Example 1. 
File 5, AA sequence, filter for productive: 
QVQLQQPGAELVKPGASVMLSCKASGYTFTSYWMHWVKQRPGQAQGHTDCRQTLQHSLHAAQQPDI*GLCGLLLCKR*LPLLL*LLGPRHHSHSLL 

 

corresponding File 3, nt sequence: 
caggtccaactgcagcagcctggggctgagcttgtgaagcctggggcttcagtgatgctgtcctgcaaggcttctggctacaccttcaccagctactggatgcactgggtgaagcagaggcctggacaagcgcaa
ggccacactgactgtagacaaaccctccagcacagcctacatgcagctcagcagcctgacatctgaggactctgcggtctattattgtgcaagaggtaactacccctactactttgactactggggccaaggcac
cactctcacagtctcctcag 

 

 



 



 



 
 
 
Example 2. 
File 5, AA sequence, filter for productive: 
QVQLQQPGAELVKPGASVKL*SRGLDEALSGLEGLIPIVVVLSTMRSSRARPH*L*TNPPAQPTCSSAA*HLRTLRSIIVQDTVTTATLTTGAKAPLSQSPQ 

 

corresponding File 3, nt sequence: 
caggtccaactgcagcagcctggggctgagcttgtgaagcctggggcttcagtgaagctgtgaagcagaggcctggacgaggccttgagtggattggaaggattgatcccaatagtggtggtgctaagtacaat
gagaagttcaagagcaaggccgcactgactgtagacaaaccctccagcacagcctacatgcagctcagcagcctgacatctgaggactctgcggtctattattgtgcaagatacggtaactacggctactttgac
tactggggccaaggcaccactctcacagtctcctcag 

 

 
 
 



 
 
 

 
 



 



 

 
 


